


NAME..............................................................ADM NO...................CLASS...................

TERM 3 MID-TERM EXAM 2012
MATHEMATICS FORM 3

INSTRUCTIONS

ANSWER ALL THE QUESTIONS IN THE SPACES PROVIDED

SECTION 1

1) Solve for P using the quadratic formula.						(3mks)

qp2 + 24p + 16 = 0


















2) Evaluate without using a calculator.						(3mks)

35 – (-17)  –  15 – (-2) (-6)
        2                  3













3) Simplify 	          1	 3						(3mks)
      1 + √2      1 - √2















4) The sine of an acute angle A is    2						(3mks)
                                                   √13

Find i) Tan A
        ii) Cos A











	

5) Evaluate 	-3 + 12 ÷ 3 + 16 ÷8 x 2 – 7						(3mks)
                       9x -4 ÷2 – 16 ÷ -4 + 6













6) Find the value of x in								(4mks)

(logx)2 -15(logx) + 56 = 0

















7) A colour TV whose cash price is 30,000 can be sold by two methods.

a) 15 monthly installments of shs. 2350 each.

b) Paying ¼ of the cash as deposit and 14 monthly installments of shs. 1875 each.

Which of the two methods is cheaper and by how much?				(5mks)
























8) Solve the equation 									(3mks)

3x + 2 – 3x – 2 = 11
     2           3         4
















9) The diameter of a classroom protractor is 35cm. Calculate the perimeter of the protractor											(3mks)














10) Find the integral values of x which satisfy the following inequalities.		(3mks)

12–3 ≤ 2x–4 < x+3











11) Find the equation of a line passing through (4, -3) and parallel to the line whose equation is 4y – 3x = 8.									(3mks)	

















12) Simplify 	6x2 – 6y + 6yx – 6y2							(2mks)
   			x2 – y2




  









13) In 1998, a car used petrol worth shs. 165 per day. How much money did the owner spend on petrol in the month of February?						(2mks)













14) Solve for X in the equation							(3mks)

32(x - 3) ÷ 8(x - 4) = 64 ÷ 2x













15) Convert 0.014 to a fraction in its simplest form.					(3mks)














16) Two pair os trousers and three shirts cost shs.1750. Five such pairs of trousers and two shirts cost shs. 3000. Find the unit price of a pair of trouser and a shirt.		(4mks)

















SECTION 2

17) The table below shows income tax rates for the year 2003.

Monthly taxable income		tax rates (%)
1 – 9680				10
9681 – 18800			15
18801 – 27920			20
27921 – 37040			25
37041 and above			30

In the year 2003 Ole Matope’s monthly earnings were as follows;
				Kshs
Basic salary		20,600
House allowance		12,000
Medical allowacnce	  2,880
Transport allowance	     340

He was entitled to monthly tax relief of Kshs. 1056

Calculate

a) His monthly taxable income.						(2mks)









b) Monthly tax paid by Ole Matope.					(6mks)

















c) If in addition to tax, the following deductions are made on his income.

i) Helb loan		 	Sh.1050
ii) Co-op loan 		sh 4500
iii) NSSF 			sh 450
iv) Co-op contribution 	sh. 1500

What is his net income?



















18) Three town X, Y and Z are situated around a port. X is 16km from the port on a bearing of 0900. Y is 14km from the port on a bearing of 1300 and Z is 25.31km to the west of Y and on a bearing of 2400 from the port.

Calculate

a) The distance between X and Y.						(4mks)















b) The distance of Z from the port.						(3mks)















c) The distance between X and Z.						(3mks)














19) Three women Joan, Faith and Stella contributed a capital of shs 80,000, shs. 120,000 and shs. 90,000 respectively to start a hospitality business. They agreed to share their profit as follows; 30% equally, 45% in the ratio of their contributions and the rest was for the purchase of new tables and chairs. In the year 2010, they made a profit of shs. 87,000.

Determine the

a) Amount that was shared equally.						(2mks)











b) Amount that was shred according to the contribution ratio.			(2mks)












c) Amount set aside for purchase of tables and chairs.				(2mks)













d) Share of Faith and Stella.							(4mks)






















20) A glass in the form of a frustrum of a core is represented by the diagram below. The glass contains water to a height of 9cm. The bottom of the glass is a circle of radius 2cm while the surface of the water is a circle of radius 6cm.










a) Calculate the volume of the water in the glass.				(3mks)











b) When a spherical marble is submerged into the water in the glass, te water level rises by 1cm. Calculate
i) The volume of the marble.						(4mks)














ii) The radius of the marble.						(3mks)







21)  Using a scale of 1cm represents 300 on the x-axis and 4cm represents 1unit on the y-axis, draw the graph of y=½ sin 2x and y = sinx for 0≤x≤360 on the same axes.	(4mks)

	X
	00
	300
	600
	900
	1200
	1500
	1800
	2100
	1500
	1800
	2100
	2400
	2700
	3000
	3300
	3600
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c) Use your graph to solve the equation.						(3mks)

½ Sin 2x = sin x
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